<

CAMO2ZZI

Automation

ML

-
b

£x
N7y

97 RIARE

SHPUTITH > 97 R RERSE

97 ZINAFHWSEL

FREERE > 11.0

BYERMRIER, %%, ThASZMA

&11% 32,40,50, 63

97 RIIFFEMIEL N IFRAT RN,
FHERTHRTEZAFRRERERZ™
KERNHE MR HE b — T2 R IR & 1
T, MATEMEESRAHET . ARE.
ZRENEHZAMERILF,

SEAVEE ERF—DoKEE, B
REMMEE R, URIEAENMER
S. HEhELBEFTASEPREN
RAVMEZ RS, MR EEIATELR
B =R RE.,

> ERERT
> SRR AlS| 304
> AASE

SEEH
it WmESHHBCEE, EELRXAEALOEE
TEAR BERARMRER
et AISI 304 REFMELTE]. = FUEEFT
BREETRZEE, TREREERH G
BRSE T
NSFH1IAIERAE (STE R R MITIMRA)
RHERX BE. Hihss, Hib
1T 25+ 800 mm
TIERE 0+80°C (FHg==4-20°C)
TIEEAD 1+10bar
EE 10+1000 mm/s (Z8%)
Vv ERES, AREB. MERTHEEE, NAEMNERBEDE (BWEMIS0V6E32 F5H)
1/3.20.01 AATREN = SHANNF, MERE, RFB AL

171

A RAT IS, FikEdETLuEES
BAFRMEERFTERLATMNEER



<

FREREHA > 11.0 SHpiTtt > 91 RARGRAS  CAMoZ2
Automation
97 RIIFFHM LR EITER
o = B{EH
x = WA
g (mm)
(7] 25 50 75 80 100 125 150 160 200 250 300 320 400 500 IE
32 xe xe x x x x x x x x x x x x VUF)
=
40 xe xe x x x x x x x x x x x x LH>
50 xe xe x x x x x x x x x x x x EKFS
/
63 xe xe x x x x x x x x x x x x E
=
i - | h{i—i‘
97 RIISERS N
97 73
M P
M= [k B
5= EHEOTALEHE
F= &M A
T, i EELE
A= B EE R
2 Tfens NEERS
1=8R (A#%) s06
2= WIEM, Bl RTASEN 009
6=XEA, WU, 81, EUESEH (RTEFMAR) (D13
A LZESs
A=AISI304 REAL R, FRBEETHE, THRRERZHE
V=AISI304 FEFS B, SERREHE
050 ¢
032=32mm - 040=40mm - 050=50mm - 063=63mm
A RRMHE
A= Rl
0200 ** ™
= fER
V= RBATR T
HREETS
@Etnw aEcma @Iﬁmé
AN EREN RBCGEEANF], MBELE, BABTEM 152002
FAEE@BTILGE, FitEETWREHEE ____375

BAFRMHEEFHTERANTMEEN



<

M ST > 97 RIIRERSE FEREAREA > 11.0
97 RINF N TEL L2
=
r
=
oS
K
IE\
3 B-97 #Y 1-97 &Y C-H-90 &Y CR-90 7Y R-90 #Y
S H ik %8 M EE 4 M7 f= B HEHIREHE

ZCR-90 A G-90 & GA-90 £ U-90 & V-97 7
RIS XAk BRI K i RRE i R

= ﬁ@

S-90 2 SR-90 %
HHhis Wi B 35

SEHTE, BNATRSTREE—R, TRSFEAHHERE—R,
FHAR ¢ R IR

1/3.20.03 RASRBHF RO, MEEE, RSN
=/5.0.05 P @ AT TS, %1 B4 T i s
173 T PR R4 B ST B R A 2 P A



<

FREERA > 11.0 SEPITITH > 97 RIIRGENSKEL CAMOZ2!
Automation

| 97 moFmEsE-TR
B, EimsEgas

+= 1872

97 RIN AW IEL

R®

1] oA AM 7B @B2 EE F G KK PL Swi Kw1 Sw2 Ul WH L1+ L2+ L3+ L4 L7 KW @KV
32 12 22 M30x1.5 36 G1/8 5 38 M10x1.25 9 17 6 10 23 26 120 94 76 19.5 15 7 42
40 16 24 M38x1.5 45 Gl/4 6 50 M12x1.25 12 19 7 13 27 30 135 105 81 22.5 15 8 55
50 20 32 M45x1.5 55 Gl/4 6 53 M16x1.5 12 24 8 17 33 37 143 106 82 28 18 10 60
63 20 32 M45x1.5 68 G3/8 6 53 M16x1.5 13 24 8 17 40 37 158 121 95 28 18 10 60
| 97 RIIFSESET - WMin#F -T2
B, Eimsigarsy
S ——
AM ZC++ AM
Lowh
Kw 1 PL L3+ PL
fr
i i
7’_‘ ‘
TP © < A=l oy 7N 7 o § = | _
eEReit o ki - (©
=802 MR - ;
! P /
/ / 1
[ /
swi/ \EE EE | F
sw2/ L 12+ WH-
R+t&
1] oA AM 7B @B2 EE F G KK PL Swi Kw1 Sw2 ul WH+ L2+ L3+ L4 Kw PKV 2C++
32 12 22 M30x1.5 36 G1/8 5] 38 M10x1.25 9 17 6 10 23 26 94 76 19.5 7 42 146
40 16 24 M38x1.5 45 Gl/4 6 50 M12x1.25 12 19 7 13 27 30 105 81 22.5 8 55 165
50 20 32 M45x1.5 55 Gl/4 6 53 M16x1.5 12 24 8 17 33 37 106 82 28 10 60 180
63 20 32 M45x1.5 68 G3/8 6 53 M16x1.5 13 24 8 17 40 37 121 95 28 10 60 195
1/3.20.04

FATREN QRHGNF, METE, BFBTEM
B R AT DU, #IEmE T s
BESHHEE£ETERAL IS 174



<
CAEIOZ2! ST > 97 RFIRGRSE EREAEA > 11.0

Automation

| 97 #oIFERST-M 2

JEimE L E R
AM L1+ -
wWH L2+
Ew I
Spe KW 1 L3+ PL
g EE EE
/—y\ -
- ‘ . A ’
NT=S I — AN < XT - L > 2
r L S N\ SEmECE A o
| N 7
! N /
L% SN W /T /
i swi/ / Ll
/7 /
K- sw2/ XD+
=
/
N&
N~
o
R&
g @A AM  @B2 X EE EW KK PL SW1  Kkwl o Sw2 Ul WH L1+ L2+ L3+ L W Xxp+
32 12 22 36 10 G1/8 26 M10xL.25 23 17 6 10 23 26 151 125 76 13 9 142
40 16 24 45 12 Gl/4 28  M12x1.25 26 19 7 13 27 3 170 136 81 16 10 160
50 20 32 55 12 Gl/4 32 M16x1.5 32 24 8 17 33 37 182 145 82 165 12 170
63 20 32 68 16 G3/8 40 M16x1.5 29.5 24 8 17 40 50 202 152 95 21 12 190

| 97 moIFmmsE-s &
JaimE R B A

‘ WH
KW 1

+=1gIniTiE

?B2

R+t

@ @A AM  @B2 (X EE P EX KK PL SWL Kkwl sw2 Ul WH L1+ L2+ 13+ T W X+ 2
32 12 22 36 10 Gl/8 105 14 M10xL25 37 17 6 10 235 18 157 139 76 13 15 142 13
40 16 24 45 12 Gl/4 12 16 MIx125 47 19 7 13 27 2 179 157 81 16 19 160 13
50 20 32 55 16 G4 15 21 M16xl5 49 24 8 17 33 285 1905 162 82 165 205 170 15
63 20 32 68 16 G3/8 15 21  Mlexl5 60 24 8 17 40 315 214 1825 95 21 24 190 15
1/3.20.05 AADRBIF [ALONH, MEXE, BFBHEA

A RAT IS, FikEdETLuEES
175 BAFRMEERFTERLATMNEER



<

FREGERA > 110 SHpiTtt > 91 RARGRAS  CAMoZ2

Automation

| 97 ZiFsmsar-F 2
JEsmEMEE A

+= 1872

97 RIN AW IEL

Rt
2 oA AM PB2 B X EE KK PL Swi Kw1 Sw2 ul WH L1+ L2+ L3+ L LU XD+ uB
32 12 22 36 14 10 G1/8 M10x1.25 31 17 6 10 23 18 151 133 76 13 9 142 34
40 16 24 45 16 12 Gl/4 M12x1.25 38 19 7 13 27 22 170 148 81 16 10 160 40
50 20 32 55 21 16 Gl/4 M16x1.5 45.5 24 8 17 33 28.5 182 153.5 82 21 12 170 45
63 20 32 68 21 16 G3/8 M16x1.5 48 24 8 17 40 31.5 202 170.5 95 21 12 190 51
| 97 75IFsmsur-AR
B E A
- s
.'.....r*_.__.! AM L1+
WH L2+
i, - 13+ -
< S
+=18niTiE 9
0

R-t%&

2 PA AM ?B2 EE KK Sw Swi KW1 Sw2 Ul WH L1+ L2+ L3+ LU XG 0 TL ut
32 12 22 36 G1/8 M10x1.25 8 17 6 10 23 9 120 111 76 9 27 10 7 58
40 16 24 45 Gl/4 M12x1.25 8 19 7 13 27 13 135 122 81 12 33 12 9 71
50 20 32 55 Gl/4 M16x1.5 8 24 8 17 33 18 143 125 82 12 40 14 9 81
63 20 32 68 G3/8 M16x1.5 12 24 8 17 40 22.5 158 135.5 95 13 45 16 12 104
ARASHREN = RBHANF], WEEE, BAATEH 1/3.20.06

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN 176



<

CAEIOZ2! ST > 97 RFIRGRSE EREAEA > 11.0

Automation

| B-97... Buppgz
ML RER (304)

i 2Rl MR B R XD+ L PH
BfRL. i JU
m Z\
rﬂ, (- N
© i 1, T
— .
=T |
1 T I 1
o 0 L om
. L Shs N Lr
H3 += MR
r
)
=
$:
va
=
4 Rt%&
. e g A B C D E SA+ F G gH am XD+
o B-97-32 32 4 53 35 24 42 142 32 32 30 7 142
B-97-40 40 4 63.5 36 28 55 161 36 36 38 10 160
B-97-50 50 5 775 47 32 65 170 45 45 45 10 170
B-97-65 63 5 82.5 45 32 65 185 50 50 45 10 190

| o7, B2
. AHW (304)

i LAEREEM 2 MBS

EHR,
w

+= R
Ra%
S 7] C (@] (@] D1 El F G Gl G2 L1+ Swi
1-97-32 32 40 24 20 7 4 35 38 50 58 27 8
1-97-40 40 50 30 28 9 5 40 46 60 71 33 8
1-97-50 50 54 34 36 9 6 45 57 74 81 40 8
1-97-63 63 65 35 43 9 6 50 70 88 104 45 12

| choo. BUBEES (5MBSTESER)
M AHW (316)

A 1NMEEERD 4 DR BT
—RREHRR. a0
— A s
e Iz
Ry L‘g
=z
7 (]
W/ L
FL
B
R®
e 2 B (€] E FL L MR uB XD+
C-H-90-32 32 26 10 45 22 12 10 45 142
C-H-90-40 40 28 12 55 25 15 12 52 160
C-H-90-50 50 32 12 65 27 17 12 60 170
C-H-90-63 63 40 16 75 32 20 16 70 190
1/3.20.07 FADRGR P SAHEON, NEEE, BABTEA

A RAT IS, FikEdETLuEES
177 BAFRMEERFTERLATMNEER



<

FREaRE> 110 ST > 97 RAIAGWS  CAMozZZ
| cRoo.. BMEERH (55 BIARAER)
HE RHER (316) :
1M EEHA 4 SR ERET - o
—RREH,
FTelle i R ril= |
w ﬁr_q—ﬁ thH - Q 3 51
! ektjie ,,577]%3
FL
- = IR i
Ir
(=
=
ke
K
roa W
BE [ B1 B2 E N FL XD+ -
CR-90-32 32 14 34 45 10 22 142 o
CR-90-40 40 16 40 55 12 25 160
CR-90-50 50 21 45 65 16 27 170
CR-90-63 63 21 51 75 16 32 190
| Roo.. BEMREEAS (5FRSTRAER)
wEL THR (316) :
i LD HEREAAT 4 M RER o o

FI—EEEHL,

RPN e @
© —~ =
FL
= e
Rt%
e (/] E EN FL TG1 XD+
R-90-32 32 45 14 22 32.5 142
R-90-40 40 55 16 25 38 160
R-90-50 50 65 21 27 46.5 170
R-90-63 63 75 21 32 56.5 190
| zcr90.. mEMHRER (5FRSTRARA)
MEL FHEW (316)
A INEHKE M 4 DR KR XD+ a1
FT—REEHN. o -
= ——= =
: i i A\ =
o ! .’/\Lf**\ e 7\
S R, g %/
7 &
TR T
U U u
S5 |62_| =
=R L | =
K2
Rt%&
fili= [4] CH CN Gl G2 G3 Hé6 K1 K2 S5 XD+
ZCR-90-32 32 32 10 21 18 31 10 38 51 6.6 142
ZCR-90-40 40 36 12 24 22 35 10 41 54 6.6 160
ZCR-90-50 50 45 16 53 30 45 12 50 65 9 170
ZCR-90-63 63 50 16 37 35 50 12 52 67 14 190

AAEREX - RBHONF, MEEXE. BABTEA 1/3.20.08
A~ RATIWGE, £ibmETLaRERHEE T 19
BAFRMHEEFHTERANTMEEN 178



<

CAMO2ZZI

Automation

NSEL

-
b

£k
7]

97 RIARE

SHPUTITH > 97 R RERSE

| 6-90.. mumAmEL

1S0 8140
b TEW (303)

FREERE > 11.0

I —
§J x|
R%
s (1] BCK LE M CL ER CE KK B ?B1
G-90-25-32 32 10 20 10 20 12 40 M10x1.25 26 18
G-90-40 40 12 24 12 24 14 48 M12x1.25 31 20
G-90-50-63 50-63 16 32 16 32 19 64 M16x1.5 39 26
| ca-o0.. musgmsraiEs
I1SO 8139
PR R (304)
R%
ili= [4] BCN U EN ER AX CE KK a1 z SwW
GA-90-32 32 10 10.5 14 14 20 43 M10x1.25 15 6.5 17
GA-90-40 40 12 12 16 16 22 50 M12x1.25 17.5 6.5 19
GA-90-50-63 50-63 16 15 21 21 28 64 M16x1.5 22 {25 22
| u-so... msmsmomgs
I1SO 4035
HEL RS (304)
Q..,/ )
114
N
S——
Lm|
R%&
i [} D m SwW
U-90-25-32 32 M10x1.25 6 17
U-90-40 40 M12x1.25 7 19
U-90-63 50-63 M16x1.5 8 24
1/3.20.09 AASRE T KAEOTT, METE. BRBTEA

179

A RAT IS, FikEdETLuEES

BAFRTMEE

FATERAA ML



FREERA > 11.0

| vor. mmzen

\
@

EE RFEW (304)
=t

SHPUTITA > 97 RIIRERSE

“‘—:, U \
1=
R%
B 1] A D gD1 E C
V-97-32 32 7 M30X1.5 42 5 38
V-97-40 40 8 M38X1.5 55 6 50
V-97-50-63 50-63 10 M45X1.5 60 6 53
| s-90... vEsme
A 1 ANEHE (R 303) 2
MEE () —EEEH.
i _ =l
A=Y
L2
L3
L1
L
R%
BS 7] @d L 11 L2 L3
S-90-32 32 10 53 46 1.1 3
S-90-40 40 12 60 53 1.1 3
S-90-50 50 12 68 61 1.1 3
S-90-63 63 16 78 71 1.1 3
| sr-0... ipstEse E 4
& 1 AEHE (A5 316) f11
NEE () —EEEHN. C
— *«—G
? = T
|
; L]
‘ ERS
'
o}
H
Rt%&
RS [} A B C D E F G H L
SR-90-32 32 3 4.5 32.5 1.1 10 9.6 4 41 14
SR-90-40 40 4 6 38 1.1 12 11.5 4 48 16
SR-90-50 50 4 6 43 1.1 16 15.2 5 54 20
SR-90-63 63 4 6 49 1.1 16 15.2 5 60 20
AASHREN = RBGHROIF], MBELE, BRBTEM 1/3.20.10

FAEE@BTILGE, FitEETWREHEE
BAFRMHEEFHTERANTMEEN

180

<

CAMOZZI

Automation

97 RIN AW IEL





